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1.~ In horses, chestnut and white coat colors are incompletely dominant. Heterozygous
horses have a blend of both colors, which is a golden tan color. Such heterozygous horses
are known as palominos (like Mr. Ed). A chestnut stud is bred with a white mare. What
genotypes are produced from this mating? What is the probability of a white foal?; a
chestnut foal?; a palomino foal?
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2. The same breeder as above wants to produce more palomino foals by breeding two palominos
together. Is this a good way to produce more palaminos? What would be a better pairing to

produce paliminos?
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3. In humans, ABO blood types are an example of codominance. A and B are ho.lhd do Wm“'t;o
O and A and B are codominant to cach other. A man with blood type AO is married to an .
with blood type BO. What are the possible blood types of their children? |v! .
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4. A man who has type A blood is positive that his wife has been cheating on him because his @
baby has type O blood and his wife has type B. Is this man right to use this evidence that his
wife has been unfaithful?
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5. When a mouse with black fur is crossed with a mouse with white fur, all F1 gcncx;jal-mnl -
offspring have gray fur. What genotypic and phenotypic ratios would be expected in the F2

What type of inheritance is this?
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